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® HAMEZ2(TensorFlow)
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®@ 1. G|O|E & X2|o}7|: tf.data.Dataset

df = pd.read csv(‘data.csv’)

feature = df.drop(columns=[‘label’])

label = df[‘label’]

dataset = tf.data.Dataset.from tensor slices((feature.values, label.values))

Dataset APIE AF25}0
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@ 1. 0O|E M X2|St7|: Epochlt Batch

Batch size Data set
) 1 Epoch »
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© 1. GO & XE|St7]: Epochlf Batch A

Batch size Data set
) 1 Epoch »

Ex) & O|O|E{ 7} 10007}, Batch size = 100
. 1 iteration = 10071 G| O|E{0f CHSHA] =5
. 1 epoch = 100/Batch size = 10 iteration
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®@ 1. G|O|E & X2|o}7|: tf.data.Dataset

dataset = tf.data.Dataset.from tensor slices((feature.values, label.values))

dataset = dataset.batch(32)
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tf.keras.models.Sequential()

PEIo| Zt | ayer 778
tf.keras.layers.Dense(units, activation)

. units : 20| ©t2| Nodel| ==
Ad

. activation : &%t activation &= AN
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model = tf.keras.models.Sequential(|

tf.keras.layers.Dense(10, input_dim=2, activation="'sigmoid’),

tf.keras.layers.Dense(10, activation="sigmoid’),

tf.keras.layers.Dense(1, activation='sigmoid’),

)
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D EO| Layer 7517

[model].add(tf.keras.layers.Dense(units, activation))

. units : 20| 0] 2t2| Nodel| =
Ad

. activation : &<t gctivation &t AN
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model = tf.keras.models.Sequentiall()

model.add(tf.keras.layers.Dense(10, input_dim=2, activation="sigmoid’))

model.add(tf.keras.layers.Dense(10, activation="sigmoid’))

model.add(tf.keras.layers.Dense(1, activation='sigmoid’))
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model.compile(loss="'mean_squared_error’, optimizer=‘SGD’)

model.fit(dataset, epochs=100)
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melg WIts}7| 93t BjAC B 052 S| At g4
[model].evaluate(x, v) [model].predict(x)
. x: H{AE GH|O[H . x: 0| =5t X of= H|O[

. y:E|AE H0|E{Q| label
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model.compile(loss='mean_squared_error’, optimizer=‘SGD’)

model.fit(dataset, epochs=100)

model.evaluate(X test, Y test)

predicted labels test = model.predict(X_test)




